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Податоци за елементите 

 Реактанции (p.u.) 

Елемент Директен 

систем 

Нулти  

систем 

Генератор G1 10  

Генератор G2 25  

Трансформатор T1 10  

Трансформатор T2 25  

Трансформатор T3 37  

Трансформатор T4 25  

Вод A-B 30 90 

Вод A-C 24 70.8 

Вод B-D 15 54 

Вод C-D 30 90 
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Податоци за елементите 

 Реактанции (p.u.) 

Елемент Директен 

редослед 

Нулти 

редослед 

Генератор G1 10  

Генератор G2 5  

Трансоформатор T1 10 10 

Трансоформатор T2 5 5 

Трансоформатор T3 8 8 

Трансоформатор T4 4 4 

Вод A-B 6 18 

Вод B-H 10 28 

Вод H-F 10 28 

Вод C-D 8 24 

Вод D-E 3 9 
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Задача 11

( )

B C
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a,b,c

a

T1 T2

G2

C
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B D

A
Податоци за елементите  

 Реактанции (p.u.) 

Елемент Директен 

редослед 

Нулти 

редослед 

Генератор G1 10  

Генератор G2 20  

Трансформатор T1 10 10 

Трансформатор T2 20 20 

Вод A-B 4 12 

Вод B-C 20 60 

Вод C-D 20 60 

Вод A-D 4 12 
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Задача 11.a
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Податоци за елементите  

 Реактанции (p.u.) 

Елемент Директен 

редослед 

Нулти 

редослед 

Генератор G1 10  

Генератор G2 20  

Трансформатор T1 10 10 

Трансформатор T2 20 20 

Вод A-B 4 12 

Вод B-C 20 60 

Вод C-D 10 30 

Вод A-D 4 12 
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